(HER)

HER B EEERERE (R2. 4~R3. 3)
A |H [xH&s | IRALE |ZHEHE (B BEXS [BER AR i

4] 6 1 51,840] -51,840|:@=#%| SHRIZ JE—#%)—X(4AH) 5lEEEL(Ja-)

4] 6 2 4968| -56,808[sEwE| 11FEEE NV —ZRE (4B H) 5lEEEL(Ja-)

4] 20 3,600,000 3,543,192 |mnzns | BUSEBE B EEE (4~98 %)

4] 24 3 4,900| 3,538,292|:axm%| 7TRHEEAE HABREHER4ASR)

4] 27 4 4,037| 3,534,255(s=Hx| TRIEEAE [#HPRHEGASR)

4] 28 5 4153| 3,530,102[saxmx| TREBAE [rxuovsil. memsen. e, ([BRE] BEEBRAEAGASR)
4] 28 6 14,909| 3,515,193|za& 3| SENRIE aE—RUGASH)

4] 28 7 18,330| 3,496,863 |sAxHE| 1HAEMEE |[EHEERSE(LE R2. 4~R2. 9

4 30 8 100,000{ 3,396,863 |A=HE |osrznaERezs (K5 4AD)

5] 7 9 51,840| 3,345,023|s@=#z%| SHRIZE JE—#)—X(58%) 5lEEEL(Ja-)

5] 7 10 4,968| 3,340,055|aEHE| 11EHKE NV —ZRH (5B H) 5lEEEL(a-)

5] 20 11 2,903| 3,337,152|sA=Mx| 7TRHEEAE |[[ZHEQUVAIL]. [HIE]. MEEl. Z8L8A8AKGASR)
5] 25 12 4,900| 3,332,252|:Axm%E| 7TRHEEAE HABRZHER(BGASR)

5] 25 13 14,254| 3,317,998 (s8% % | SEIRIE JE—KGAR)

5] 26 14 4,037| 3,313961|sAzmx| 7TREEAE [#HPRHE(GAR)

5] 27 15 5,016| 3,308,945|s:@a=w%| SBIEE A —3yMERE (48 5) [BIEEEL(RMOL)

5] 29 16 85,500 3,223 445|BEME [osrznaERes |85 (A R)

6] 4 17 4,968| 3,218477|saEHE| 1EHKE NV —ZRH (6B H) 5lEEEL(Ya-)

6] 4 18 51,840| 3,166,637 |s@=#%| SHRIZE JE—#)—X(6AH) 5lEEEL(Ja-)

6] 8 19 4,200| 3,162,437 mzmzont | S=HE LR [NEHBEEEFEISY mRBRE(6H6RH)

6] 15 20 3,000| 3,159,437 |;m=mz| TREEAEZ [BIHE FHABES: 202044 5 ~20206 98
6] 18 21 2,903| 3,156,534|;AEMR| 7HEEAE |[[ZHEQUVAIL]. [FiIfl. MZEl. Z8LB8AEAK6GASR)
6] 24 22 4,900| 3,151,634|:axm%E | 7TRHEEAE HABRZHERGASR)

6] 26 23 35919| 3,115,715(s=m% | SHIRIE JE—RK(6HSH)

6] 29 24 5,016| 3,110,699|:@a=Mz| SBIEE A —3xyMERE (5A ) [BIEEEL(RMOL)

6] 29 25 4,037| 3,106,662[sAxwx| 7TREEAE [#HPHE(6AR)

6] 30 26 94,000| 3,012,662|@=M% [osrsnmarnen ([ EE=—HK$

6] 30 27 105,500{ 2,907,162|s@=EwHE |osrznaERezs (5 6GARD)

6/ 30 28 5,000| 2,902,162 |BEME [osrznaEmnes |85 (6 H5)

71 6 29 4968| 2,897.194[saxmx| N1FEEE NV —ZRE (T HER) 5lEEEL(a-)

711 6 30 51,840| 2,845,354|s@=8%| SHRIZ JE—#)—X(TAR) 5lEEEL(JT-)

7] 7 31 16,500( 2,828,854 |sazHx| 7THEEAE |STIEEEMBEER 20205 HEE~X5

7] 7 32 6,160| 2.822,694|s@=wz| TREBAE |wuswosseirm perasrastmni. |ADRLLEROEIDOMAITHE
7] 10 33 6,090| 2,816,604 |mamzun| SRGEEH [h/IhEEI— mlERES(7H16H)

7] 21 34 384,120| 2432484 |saEwE| 6/LIRE [ =21—X (13,000%0) (1948)

7|22 35 4705| 2,427 779(saE % [osrsnarmes [FBERERE

7] 27 36 5016| 2422,763|:a=w%x| SBIEE A —3yMERFE (6 A%R) [BIEEEL(RMOL)

7] 27 37 28,867| 2,393,806|:a&H% | SENRIE aE—R T AH)

7] 27 38 2,903| 2,390,993 5= | 7THEEAE |[[ZHEQUVAIL]. [HIE. MZEl). E8LBAAKGTASR)
7] 27 39 4,900| 2,386,093|:Axm%E| 7TREEAE HABRZHERTASR)

7] 28 40 4,037| 2,382,056 |5k | TREEAE [#HPRHE(TAR)

7] 31 41 101,000{ 2,281,056 |sA=EHE |oarznaERezs (M5 (TAD)

8| 4 42 4968| 2,276,088z | 11FEEE NV =R (8AH) 5lEEEL(Ya-)

8| 4 43 51,840| 2,224,248|s@=8%| SHRIZE JE—#1)—X(8AH) 5lEEEL(Ja-)

8l 11 44 2,903| 2,221,345|sREHR| 7HEEAEZE |[[ZHEQUVAIL]. [FiIfEl. MZEl). E8LB8AA(BASR)
817 9 2,221,354|F 2 |FIE FIE

8| 24 45 4,900] 2,216,454 |saxm% | 7TREEAE HABRZHERK(BASR)

8] 26 46 4,037| 2212417 |sAzHx| TREBAE [#HPHE(BAR)

8| 27 47 5,016| 2.207,401|:@=wz| SBIEE A —3xyMERR (7AR) [BIEEEL(RMOL)

8[ 28 48 26,000( 2,181,401 |RBEHE osrznaEmnes |85 (8AR)

8| 28 49 83,500| 2,097,901 |BEME [osrznaEmRes iS5 (8AR)

8] 28 50 13,231| 2,084,670 (5% | SEIRIE JE—K(8AH)

9] 1 51 4158| 2,080512[sa=xmx| 11FEEE Eadeiit

9] 1 52 6,090| 2,074,422 |gzmzun | SEHELR |/ EEF— mRBHRE(QA1RH)

9] 2 53 11,750 2,062,672|saE#E| 1EXKE JE—FRiR A4

9] 4 54 51,840| 2,010,832|s@=®z| SHRIZ JE—#%1)—X(9AH) 5lEEEL(Ja-)

9] 4 55 4,968( 2,005,864 &M% | 11EKE NV —ZRE (9B H) 5lEEEL(Ja-)

9] 15 56 2,903| 2,002,961 |sA=m%x| 7REEAE |[[ZRHEQUVAIL]. TR, MEEl. ZEsLBA8AK0QAR)
9] 23 57 4,900| 1,998,061 A%z | 7HEEALE |HAREHEOAS)

9] 25 58 3,173 1,994,888 |sA=mx| 7TREEAE [REHE2020

9] 25 59 20,370 1,974518;=amE | 11EHE JE—RiR A4, A3

9] 25 60 18,330| 1,956,188|sA%#E| 1AEMEE |[EBREERSE(TH) R2. 10~R3. 3

9] 28 61 5016| 1,951,172|;@=M%| SBIEE A—xyMERR (8A ) [BIEEELL(RMOL)

9] 28 62 4,037| 1,947135(5zH%x| 7TRIEBEBAE [#HPRHE(QAR)

9] 29 63 42,100| 1,905,035|s@=8z%| SHRIZ JE—K©QAH)

9[ 29 64 23,000( 1,882035|BEME [osrznaEmRes |85 (QHR)

9/ 30 65 97,000( 1,785035|BEME [osrznaEmes [§5 (QHS)

10] 5 66 51,840| 1,733,195|s@=®%| SHRIZ JE—#1)—X(0AH) 5lEEEL(Ja-)

10] 5 67 4968| 1,728,227 (s | 1N1FEEE NV —ZRE (108 &) 5lEEEL(a-)

10] 20 2,880,000 4,608,227 Az | BFEEE BEEEE (10~3A%)

10] 20 68 55,605| 4,552,622 |5=®%E| ITREBAE [ )Y TV EEH

10] 22 69 4,900| 4,547,722|saxHx| 7THEEAE |BAREHBEK 0B S)

10] 22 70 3,000 4544722\ TREEAEZ (BIHE 20204E10H ~20214E3 73

10] 23 71 25,455| 4,519,267 |s@=8z| SHRIZ JE—KU0AR)

10] 27 72 5,016| 4,514,251|;@=%x| SBIEE A —3yMERFE (9A ) [BIEEELL(RMOL)

10] 29 73 4,037| 4,510214[szmx| 7TREEAE [HEHEG0ASR)

10[ 30 74 115,000] 4,395.214|@=HE |osrsnsERss ({85 (108 H)




(HER)

A |B [xH&s | IRALE |ZHEHE (B BEXS BEH AR i

10[ 30 75 23,000( 4,372 214|BEME [oskzsnaEmRas |85 (108 5)

10 30 76 2,903| 4,369,311 |z | 7HEEAZE |[[ZHEQUVAIL]. MRl E%). IEsLaAEI(108S)
11] 4 77 4968| 4,364,343[saEmx| 11FEEE NV —ZRE (1A H) 5lEEEL(a-)

11] 4 78 51,840| 4,312,503|s@=®%| SHRIZ JE—#)—XU1A5) 5lEEEL(Ja-)

11]10 79 3,535| 4,308,968 |:@=mz| 11EHE X\Vay Su7—JI5E

11] 24 81 7,200| 4,301,768 |5A=R%E| 7/REBAE [SFHHE. £ ELEE 202054 B ~2021%E3H

11] 24 82 4,900| 4,296,868|:AxmE| 7HEEALE |BAREHBERKO1BS)

1124 83 10,370 4,286,498|:Axm%E | ILBELH [f/IhiEL 2— mRIEBER(12A1H)

11] 27 84 5016| 4,281,482|:@=w%| SBEIEE 13— yMERFI (108 5) |BIEEEL (RAOL)

11[ 30 85 40,306 4,241,176|58=M%| SENRIE JE—RKRU1AS)

11] 30 86 2,903| 4,238,273|sREMR| 7HEEAE |[[ZHEQUVAIK]. [HiIfl. MEF). IEsLaAaEI(118S)
11]30 87 4,037| 4,234236[sR=Hx| TREEAE [(#HRHEG1ASR)

11] 30 88 67,750| 4,166,486 SAZEHE [osrsnarmes (5 (R—X7vTH) 202054H~10A%

11] 30 89 7,450| 4,159,036 |SAEHE |osrsnaERes (85 R—X7vTH) 2020548 ~10A%

11[ 30 90 31,250 4,127,786 |AEME [osksnaEmes (85 (11 H5)

11] 30 91 103,750( 4,024,036|:@=HE |osrsnaERss ({5 (1A )

12] 1 92 9,920 4,014,116|5A%Mx| 7REEAE [ AE(SER-BHiR- £ER) [2020FE1H~128

12] 4 93 4968| 4,009,148(saxmx| 11FEEE NV =R (128 5) lEEEL ()

12] 4 94 51,840| 3,957,308|s@=#%| SHIRIZ JE—#)—X(128%) 5lEEEL(Ja-)

1210 95 214,280| 3,743,028|:AEHE [osrznarnes |RE—HSE

12[10 96 37,400| 3,705,628|s@=EM% [osrsnmarnen [ZE—HKE

12] 15 97 2,903| 3,702,725|REMx| 7HEEAE |[[ZHEQUVAIL]. [FiIfl. MEF). IEsLaAaEI(12B9)
12] 15 98 2,640( 3,700,085 |s@=mz| TREEAE [FEKIGEE 202051 H~12H4

12[15 99 13,284| 3,686,801 |sazHE| 7HEBALE |t HBEHREEIGEE (384-389)

12] 15 100 6,960| 3,679,841 |A=m%E| TREEAE |[FIRALASA 202054 B ~2021438
12]18 101 289,520| 3,390,321|sa&wE | 6/LIRE 20204 7 >4 — RENRIX (50,0004%)

12] 21 102 4,900| 3,385421|:Axmx| 7HEEALE |BAREHBERK1285)

12] 23 103 41,263| 3,344,158|:@=®%| SHRIZ JE—KU28%)

12| 24 104 4,037| 3,340,121 [sAzxmx| 7TREEAE [HPEHE(G28%9)

12[ 28 105 5016| 3,335,105|:8=/M%| SEIEE 13— yMERFE (11 A5) |BIEEEL(RATL)

12[ 28 106 37,300 3,297,805|:BEME [oskEsnaEmRRs 85 (12H5)

12[ 28 107 105,400( 3,192,405|:@=H%E |osrsnaEnss ({5 (128 %)

1] 4 108 51,840| 3,140,565|@=8%| SHRIZ JE—#%)—X(AH) 5lEEEL(Ja-)

1] 4 109 4968| 3,135597 (s | 1N1FEEE NV —ZRE (1 BAH) lEEEL(Ja-)

1[18 110 16,782| 3,118815|5Axx| 7HEBALE |HITHEANZE011-112) th 75 B4 B BE (R SR 5 28 44 (255-260)
1] 20 111 11,610 3,107,205|5a% | SHBEE HMEMER 202077 —MRIES) [BI1E R EL (A AEYE)

125 112 43,818| 3,063,387 |:@=®z| SHRIZ JE—KOABH)

1] 26 113 4,037| 3,059,350(sA=wx| TRIEEAE [(#HPRHEOQASR)

1] 26 114 4,900| 3,054,450|:a%m%E| 7TRHEEAE HABRZHFEKROASR)

127 115 5,016| 3,049,434|:=wz| SBIEE A 3—2yMERE (12845) |BIEFEL(RqAaL)

1] 29 116 41,150| 3,008,284 |:BEME [osrznaEmRes (85 (1 B5)

1] 29 117 87,800 2,920,484 |BEME [osrznaEmRes [§5 (1 B9)

2] 3 118 3500| 2,916,984 |;A=m%| THEBEAE |[FIEDHSEL

2] 4 119 4968| 2,912016[saxmx| 11FEEE NV —ZRE (28 H) 5lEEEL(a-)

2] 4 120 51,840| 2,860,176|s@=®z| SHRIZ JE—#%)—X(28%) 5lEEEL ()

2] 5 121 2,903| 2,857,273 5= | 7THEEAE |[[ZHEQUVAIL]. TR, [EEANE e Y=y I GD-E)
2] 8 122 620( 2,856,653|sa& | 2HERE #HEH 1%

2] 8 123 1,000| 2,855,653|5%HE| 1AENHEE (FHESME #HEH(14)

2]10 -160,000 2,695,653 |mnzns IS EEIE B EEERIE FEEZEEDR (1A x20A)

: BORMIL TAILERL |0 | ARTL (A OB A AGRE i

2|10 124 16,170| 2,679,483 |sAEME | 7TRIEBAE 2 ¥?£f§+%£f§iﬁf§ﬁ#&. SR e
2[17 125 3,950 2,675,533 |sA=M%x| SeGELEH [d/hiEER— TR EBER (2H20H)

2] 22 11 2675544|F8  [FIE FIR

2] 22 126 4,900| 2,670644[s=HE| TREEAE (HABREFEKCHES)

2] 22 127 31,860| 2,638,784|5a&w%| SEIEE BB (2020 7o r—hMRIES) | BIEHEL (A RENE)

2] 25 128 33,633 2,605,151 |58=8% | SENRIZE JE—R(CAH)

2|26 129 4037] 2,601, 114[saxmx| TREBAE (#HPEHE(CASR)

2|26 130 2,903 2,598,211 |sa=mx| 7RIEEAE [[ZKHEQUVAIL]. [HIf]. EF). [EsLBA%KI(2A8%)
2] 26 131 38,950 2,559,261 |AEME [losrsnaERer |65 2HAR)

2|26 132 93,850 2465411 5% varswarnes (5 (2ASH)

3] 1 133 5,016| 2460,395|:A=m%| 8BIEE A 3—3xyMERF (1 AR) [BIEFELL(RMOL)

3] 4 134 4968| 2455427|@=HE| 11EHEE N\ya ) —R#E(BAR) glEEEL(JO—)

3] 4 135 51,840| 2,403,587 |s@=/3%| SHIRIZE JE—#)—X(3AH) 5lEZEEL(O)

310 136 3,690| 2,399,897 |sAzmE| TREREAE |HAHKEIRERSEH(261-263)

3[10 137 3,089| 2,396,808 |sAEMx| 7TRIEZEEAEZ [[ZHEQUVAIL]. [Hif]. EF). [EsLBA84KI1BASR)
3] 15 138 19,067[ 2,377,741|58& % [osrzsnarmnes |[BIXRFY

3] 15 139 46,842| 2,330,899 sA=#E |oarswaEmes [HXRFY

322 140 810| 2,330,089 |sA=®x| SHEIEE BMEMEE (2020 7o r—hRIES) | BIEHEL (A RENE)

3] 23 141 4900| 2,325189[sA=mE| 7TREEAE (HAEEFERKGHES)

3|26 142 4037] 2,321152|saxmx| TREBAE [(#PHE(BASR)

3] 29 143 1,100| 2,320,052|s@&8% [osrsnaemes [R5 (BASD)

3] 29 144 5,016| 2,315,036|:a=/%| 8BIEE A 3—3xyMERK (2A5) [BIEFELL(RMOL)

3] 31 145 20,439 2,294 597 |5aE#%E | SENRIE JE—HKR@GA)

3| 31 146 96,600| 2,197,997 sa=#% |oarswarmes (85 (BASH)

4] 27 147 5016] 2,192,981|sA%#x| SHIEE 13— yMERFE (BAS) |BIEZEEL(RAOL)

6,320,020 4,127,039
6,320,000 {148
65.30% ENITEE




